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0= (L =x)(1 +X)(6—X)

NOSVY3y
0= (I +xg)(g — x2)

0=(L+xe)g—x)

SAVM1Y
0=(=-x)(e+Xx)

OLNOHOL (1)

0= (2 +XS5)(G + X)X/

a3dvos3 ()

0=(9+x/)(2+Xe)

S| (6)

0=y +X)(1 —x2)

IAVH
0=(9—=Xx)(} —x)

VavNvyD @1

0=(1 +x)(8 — xp)xg

3snvoag D)
0= (1 +x5)(c — X6)

AFHL  (B)

0=(=X(pL +X)x_

Sl
0=(2—Xx)(5—-x)

0vid QD)

0=(9=X)(L +x2)x

MNva @D

0= (2 —xg)(2 + x£)

oL ©

0=(6—X)X

HL (@)

0= (L1 +X)(¥+Xx)

sy3ggod @)

0=(L+xp)x

AINO (D)

0=(e—xp)(0} —X)

wHL (9

0=(5+x)(2L —X

AHm (O

0=(8+Xx)(g+Xx)
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ALGEBRA WITH PIZZAZZ!

a: To solve equations when one side

OBJECTIVE 4-
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is in factored form and the other side is 0.



